1. HCI is a field that studies:

a. Human Cognitive Implication (HCI) of computer use

b. Hardware Configuration Investigation (HCI) in computer system development

c. Human-Computer Interface (HCI) design

d. Human-Computer Interaction (HCI)
e. Human-Computer Interconnection (HCI)

2. The field of HCI ___.

a. is a brunch of computer engineering;

b. focuses on the study of human behavior on the basis of psychology;

c. attempts to understand and shape the way people interact with computers;

d. has a scope that only focuses on human-computer interaction in organizations;
e. involves very little applied knowledge.

3. A system’s HCI quality is decided by many factors. An example of these factors is: 

a. the brand name of the system

b. the usability of the system

c. the cost for purchasing the system

d. the user group of the system
e. the reputation of the system’s designer(s)

4. Which is an appropriate statement about a system’s HCI quality?
a. A system’s HCI quality is just about its usability;

b. A system’s HCI quality is just about its performance;

c. A system’s HCI quality is just about users’ physical experience;

d. A system’s HCI quality depends on the overall effects from the system in many different human concerns;

e. A system’s HCI quality is just about the services provided by the system developer;
5. Usability of a system is a concept contingent on system’s functionality, specified users, specified goals and ___.
a. specified context 

b. specified devices

c. specified user mood

d. specified system instruction
e. designed user training
6. The examination of a system’s usability should be performed with concerns of many factors in mind, such as:

a. the investment on the system development and the functionality of the developed system 

b. the effectiveness and efficiency in using the system 

c. the location for installing the system and the expected users of the system

d. the formation of the system development team and the length of the system development
e. the technology utilized in the system and the devices selected for the system
7. In HCI, which of the following is emphasized in a good fit of a computer system?  
a. the investment for developing the system 

b. the reputation of the system developer

c. the time spent on the system development
d. the users’ overall well-being

e. the time for installing the system
8. Which of the following examples indicates a good fit in system design?
a. a system that requires a lot of body movement in operation

b. a system that makes users feel stressful 

c. a system quickly help users finish their tasks but cause fatigue after use
d. a system that requires large investment of cognitive effort from users while performing tasks

e. a system that enables users to do their tasks with an enjoyable experience 
9. Which of the following can be used as a measure of task performance?
a. the cost of doing a task
b. the computer resources used in performing a task

c. the fit between the computer system and task 

d. the requirements of a task 
e. the satisfaction with task performing experience
10. In HCI, users’ well-being is of great importance, which reflects:
a. the concern with users’ happiness after using a system

b. the concern with computer resources consumed 
c. the concern with users’ energy required in using a system

d. the concern with users’ physical and psychological welfare

e. the concern with the benefits from using a system

11. In HCI, user activity refers to 

a. user’s operation of a computer device 
b. user’s body movement

c. user’s conversation with a computer system

d. user’s physical and psychological interaction with a computer system in doing a task

e. user’s intelligent work in doing a task

12. In a trend comparison task, using graphics would help reduce the demands of ___ resources from the user.
a. physical

b. cognitive

c. affective

d. financial 
e. health
13. In a trend comparison task, using graphics would help reduce the demands of ___ resources from the user.
a. physical

b. cognitive

c. affective

d. financial 
e. health
14. A pleasing interface design aims at utilizing users’ ___ to enhance human-computer interaction. 
a. interpersonal resources

b. cognitive resources

c. physical resources

d. affective resources
e. organizational resources
15. The design philosophy in HCI is to: 

a. develop the technology that can be applied to the largest population;

b. develop the technology that can be afforded by the largest population;

c. develop the technology that can help an organization become more advantageous in its field;

d. develop the technology that can quickly dominate its  major market;
e. develop the technology that can achieve a good fit between the user, the task, and the technology within a given context.
16. A system with good HCI design should be able to increase:

a. user’s expenditure of physical resources

b. user’s expenditure of cognitive resources

c. user’s expenditure of affective resources

d. user’s capabilities required in using the system
e. user’s spending on system devices 
17. The design of a keyboard layout reflects the ___ concern in HCI. 

a. physical 

b. cognitive 

c. affective 

d. usefulness
e. usability
18. Human concerns that serve as the basis for system design and evaluation are physical, cognitive, affective, and ___.

a. efficiency

b. effectiveness

c. usefulness
d. usability 
e. functionality
19. The HCI development methodology revolves around the planning, analysis, design and ___ phases of a system’s development.

a. coding

b. alternative

c. coordinating
d. procurement
e. implementation
20. In HCI development methodology, the analysis should eventually yield the:

a. project plan

b. user needs summary

c. evaluation metrics
d. alternative selection

e. system presentation
21. Based on the HCI development methodology, the interface specification belongs to the ___ phase of a systems development life cycle.

a. planning 

b. analysis

c. coding
d. design

e. implementation
22. HCI analysis in HCI development methodology involves analysis on user, task and ___.

a. cost

b. benefit

c. context
d. feasibility

e. system specification
23. Interactive input devices pertains to human sensory perception in: 

a. convenience, speed and happiness

b. sweet, sour and bitter

c. vision, audition and touch

d. color, light, space

e. distance, movement, and destination
24. The term “ergonomics” means: 

a. psychological fit between human and machine

b. cognitive fit between human and machine

c. affective fit between human and machine

d. intellectual fit between human and machine

e. physical fit between human and machine
25. In the context of HCI, ergonomics is a concern in:

a. social engineering

b. cognitive engineering

c. affective engineering

d. physical engineering
e. psychological engineering

26. With the help of physical engineering, a well-developed physical interface between human and computer should be able to: 

a. reduce the expense on device purchase

b. enhance the computer’s processing ability

c. gather more people to work on the same task

d. convince a user to let the computer completely control the interaction

e. improve the human ability to handle physical load or demands of the work situation
27. Which of the following is a measure for good performance of a computer interface: 

a. reducing user errors

b. making user tired
c. incurring cognitive burden on user
d. creating noise

e. causing muscle fatigue to user

28. A computer interface with good performance should help 

a. save money
b. speed up the network
c. reduce time required to complete task 
d. increase the hard drive capacity

e. enhance the lighting of a work space

29. Which of the following HCI issues is relevant to human visual perception? 

a. chair height
b. ventilation of the office

c. noise level in the working environment
d. position of the footrest

e. screen resolution
30. Audition is the human process of:
a. hearing and comprehending sounds
b. weak electricity flow within body

c. seeing and comprehending objects

d. reading and comprehending text

e. thinking and explaining ideas
31. A symptom of vision problems associated with frequent computer use could be:
a. blurred vision

b. high blood pressure

c. short of breath

d. rapid heartbeat

e. broken voice
32. An ill-designed Visual Display Terminal that has problems in ___ could contribute to users’ vision problems.
a. heat ventilation

b. luminance and contrast

c. network connection

d. compatibility between video card and mother board 

e. sound control
33. Output designed for the blind is usually:
a. added with a smell

b. with a sound or can be touched

c. tasteable
d. presented with strong visual contrast

e. with striking signs on the visual display

34. User task performance reflects the ___ of performing a task

a. usefulness and usability

b. time and space

c. cost and benefit

d. efficiency and effectiveness

e. investment and reward
35. Cognitive performance reflects:

a. team size required for doing a task

b. time and space of performing an art work

c. cost and benefit of a finished project

d. profit obtained from an investment

e. speed and accuracy of performing an information-processing task
36. The accuracy of an information processing task, which together with speed reflect the cognitive performance, depends on: 

a. the capacity of human information system to actively collect data

b. the ability of human information system to generate information from scratch

c. the capacity of human memory to store data

d. the processing rate of human information system
e. the data transfer speed within human information system

37. Heuristics are rules of thumb to perform a task that depend heavily on:
a. weather

b. temperature

c. task content

d. blood pressure

e. wage rate
38. Heuristics are a kind of:
a. task requirements

b. requirements for task-doers

c. requirements for task-doing context
d. task-doing rules

e. system configurations
39. In the following statements about heuristics, the appropriate one is:
a. Heuristics tend to use as much cognitive resources as possible;

b. Heuristics are independent from the context;

c. Heuristics are independent from the task content;

d. Heuristics never fail;

e. Heuristics are vulnerable to changes in context.

40. Metaphor is a cognitive process in which an experience is related to:
a. an already familiar concept

b. a concept introduced by an expert

c. a newly created concept

d. an organizational rule

e. a phenomenon that has never been observed before
41. In the following statements about metaphor, the appropriate one is:
a. Metaphors are only helpful to expert users of computers;

b. Metaphors refer to the unorganized knowledge that is relevant to a task;

c. Metaphors help users overcome cognitive limitations in complex tasks;

d. The picture inserted in a MS Word file is an example of metaphor;

e. Metaphors are built on concepts that users are not familiar with.

42. In Norman’s seven stage model of user activity, which of the following is a stage in the direction from HUMAN to COMPUTER: 
a. evaluation

b. interpretation

c. perception

d. action specification

e. presentation
43. Based on Norman’s seven stage model of user activity, one stage in the direction from COMPUTER to HUMAN is: 
a. execute an action

b. form the intention that will accomplish a goal

c. specify the action sequence to implement an intention
d. present results of an action

e. evaluate the interpretation against the expectation based on intentions

44. Please select the appropriate statement about Norman’s seven stage model of user activity from the following:
a. The seven stages jointly describe a user activity for a particular goal;

b. The seven stages jointly describe all users activity at a general level;

c. Each of the seven stages can independently describe a user activity for a particular goal;
d. Each of the seven stages can independently describe all users activity at a general level;

e. The seven stages only partially explain a user interaction with computer
45. Which of the following is an element of GOMS model? 

a. goals

b. origin
c. management

d. maintenance 

e. systems
46. Affective engineering is about:

a. the engineering that artificially create emotions for robots

b. the engineering that can control human affect

c. the design of advertisements that attract consumers through affective temptation

d. the application of affect in the development of HCI

e. a sub-field in psychology that studies the affective aspect of human being
47. GOMS model is used to:

a. analyze users’ physical interaction with computers;

b. describe the research methodology for HCI;
c. define the human processor and memory needed for a user activity;

d. identify the most efficient strategy to perform a task;
e. provide a checklist for decision-making tasks.

48. GOMS is the abbreviation for:

a. goal, order, means, summary

b. grade, order, mission, solution
c. goal, origin, means, solution

d. goal, operator, methods, selection
e. grade, order, means, summary

49. Affect is a general term that refers to ___ processes and states.  

a. physical 

b. psychological

c. artificial
d. pretending
e. botanic
50. Which of the following is a psychological process and state that can be called affect?   

a. ache

b. moods

c. hunger

d. hotness

e. dizziness
